2003 2005 15 17
LCA
LCA A
LCA
LCA
LCA LCA
7.5
2004.9 2005.9
kg 0.19 /kgVS
A A
LCA 21 9
1 2
1
LCA 1 A A
17t

LCA 3



1 LCA
1A LCA
A
kg CcOo2 CH4 N20O CO2 CH4 N20O CO2 CH4 N20 —eqg CO2
= 689,743 56,144 - 3,911,159 303,851 - 4,600,903 359,995 212 97
- - 1,316 - - 3,973 - - 5,289 2 1
610,844 - - 4,068,787 - - 4,679,631 - - 5 2
610,844 689,743 57,460 | 4,068,787 3,011,159 307,824 | 4,679,631 4,600,003 365,284 219 100
cf 1 23 296 1 23 296 1 23 296
(t) 611 15864] 17,008 4069] 89957] 91116 4680 105821 108,124
33 —eq CO2 185 —eq CO2 219 —eq CO2
0.5
(kg) CO2 CH4  N20
0.4 5472 - -
~ - 396 -
£ 0.3 - - 7
o
< 1599 - -
= 0.2 K 7,071 396 7
o1 | cf 1 23 296
’ 7071 9106 2127
0 18 -CO2
SSSSSSSSSSRSS gggg
c7) 17 -CO2
-16 -CO2
1 -CO2
< ) 9>
2004.9 2005.9 99 -C02)
LCA
@ 5,500 5,850
50 50
2,750 2,925
69 69
; 13 29
p 3.0 3.4

LCA







